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Y10 Vectors
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What do | need to be abk to do?

By the end of this unit you shoukd be able
to:

I
I
Urdderstond ond represent vectors
ke and read vector notation

-
L]
-

Direction: the. Ire. our course somethng i aong

Mogritude: the magnitude of o vector & fs kngth
Seaby: o single. rumber ysed to represent the mulipler when wovking with vecfors

I
I
I
| * Drow and inderstand veclors mulipled Column vector: & matrix of ore. colimn descrbing the movement from a point
| byosiscabr Resukant: the. vector that is the sum of two or more. other vectors
: * Erctmniumtaﬂa&ﬂtmﬂf Poralel stroight Wes thal never meet
vecliors

|+ Drow and understand addtion and
| abdraction of veclons
S L |
T T e 1
| Understand and represent vectors | Vectors show both dection and magniuce | I
: Cobomn vectors hove been seen in frarsblios :
| to deserive the movemert of ore mage onto The orron & porting n the drection from The drecton & mportart 1o ||
| arofhes starting porit to end port of the vector. correctly wife fre veclor ||
I i The magiuxe. s tre. brath of tre vect I
| the s — 4 magiue £ o Tre magrituce sos the |
. )| (T s cablte o P s trecrem | s e the crecton |
I fie. o |
| Understand and represent. vectors I Vectors mutipled by a scabr |
| Vector noiation DE & another : | _ I
I wey 1o represent the vector i [ Pardlkl vectors ore scalar mulipes of esch other ] |
I g Jorwa the. port D to the. port E. | :
I — =3 L b=2 xc=2c |
I b DE‘(—l) ! Migly € by A trs becomes b, |
: / e o it e I: The two Ines are. poralkl |
| E drection from port [ fo port E II b |
| ! a=—1 xc=—-c :
: Vectors can o be wrkten i bokd b (1) I: . The vectors @ and ¢ ore. dko |

cose 50 g vepresents the vector g 2 II a porclkl O readtive scoba copses |
I—————--————---————--———II the vector to revesse drection |
PPyttt o |
 Ockdition of vectors y I
| II i 2 1 b=-2 xa=-2a |
' aE-( - (2) AB + BC I| a- 2) ”'(_4I "‘(_zI '
| 1 —4 || :

il

~.. vector & in the opposle drection to b which |
rezds o ok of -|

: G R :
| - I:Gddtlcna'daﬁrmtmgfmtm .
+

: & =(1+—4) i: a(?] ﬁ'(g) i
| A At = 5 || a _ |
| SO e 2=,
: c | Look o ths ocion compues I: :
I fo tre vector AC l| a+ (—b) I
' r . e | =a-b |
: The resutart AB + BC = AE=(—3) 1 Tre restort s @ — b becasethe |
|
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